
Exercise 1. Learn the following speech patterns. 

A 

This random number generator was supposed to be used in com­
puter games. 
This device was supposed to maintain a constant level of the out­
put signal. 
Sean Connery's character was supposed to be a sort of superman. 
This play was supposed to be staged by the 100* anniversary of 
the theatre. 
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High performance of this computer accounts for a great demand 
for it. 
The capability of analog computers to solve differential equations 
accounts for their wide application in building various kinds of 
simulators. 
His illness accounts for his absence. • ^ . ' 
Simplicity is one of the reasons that accounts for the use of binary 
information in digital computers. 

The use of new information technologies has resulted in saving 
large sums of money. 
Using drugs may result in poor finish. 
The patient's disregard of the doctor's advice resuUed in the 
worsening of his state. 
The invention of the digital computer resulted in radical changes 
in all fields of human activities. 

D 

It is hardlv surprising that today's children can handle a com­
puter. 
Nowadays it is hardly possible to create a new modem airpl^! 
without computer-aided design tools. 

One can hardly believe this story, it sounds incredible. 
The accuracy of the analog computer can hardly be as high as that 
of the digital one. 

Most schools, to sav nothing of universities, are equipped now 
with modern computers. 
Many adults, to say nothing of children, enjoy playing computer 
games. 
A great number of application packages have been created for 
solving medical problems, to sav nothing of mathematical and 
economic ones. 
Nowadays you can often meet an automobile having a built-in 
computer, to say nothing of aircraft. 
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Ukraine's factories and plants produce a great variety of high-
technology goods. 
This remedy is known to be helpful in a great variety of cases. 
The soil and climatic conditions of Ukraine are good for growing 
a great variety of crops. 
This system's power unit failure can have a great variety of mani-
festations. 
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Their polarization can be switched at best in about half a micro­
second. 
At least one such point must correspond to the beginning of the 
program. 
The English football team is very strong now. I believe it will 
take at the very worst the second place at the nearest World Cup. 
There were only a few people at the meeting, thirty at (the) most. 
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